Seat No.:

DIPLOMA ENGINEERING - SEMESTER — « EXAMINATION —- SUMMER-2015

Subject Code:3350703

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Java Programming

Time: 2:30 pm to 5:00 pm

Instructions:
1.  Attempt all questions.
2.  Make Suitable assumptions wherever necessary.
3.  Figures to the right indicate full marks.
4.  Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6.  English version is authentic.
Q.1 Answer any seven out of ten.
1. keyword is used to make a class
2. operator is used to allocate memory for an object
3. Which of these is not a bitwise operator?
a) & b) &= )= d) <=
4.  What is the return type of Constructors?
a) int b) float ¢) void d) None of the above
5. keyword is used by method to refer to the object that invoked it.
6. type of inheritance is not supported in Java.
7. Which function is used to perform some action when the object is to be
destroyed?
8. Which keyword is used to define packages in Java?
9. Javais platform language. (Dependent/Independent)
10. List the shift operators available in Java
Q.2 (a) Explain following
(i) Byte Code (ii)) JVM  (iii) Platform Independent
OR
(a) Explain following
(i) Portable (ii) JRE  (iii) Applet
(b) Explain the structure of Java program with example
OR
(b) Explain any one of Java Loop Statements with program example.
(c) Write a program and explain how to create class and object.
OR
(c) Write a Java Program to display the 3 city names using the command-line
arguments.
(d) Explain Multiple Catch block with program example.
OR
(d) Write a program and explain try...catch block.
Q.3 (a) List methods of String class. Explain how to use String class.
OR
(a) List methods of String Buffer class. Explain how to use String buffer class.
(b) What is Wrapper class? Explain use of any one wrapper class.
OR
(b) Explain Type Conversion and Casting
(c) Write a program to explain Method Overloading.
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OR
Write a program to explain Method Overriding.
Compare following:
(i) Abstract Class Vs Interfaces
(i1) Static Method Vs Non Static Method
OR
Compare following:
(1) ‘this keyword’ Vs ‘super keyword’
(i1) throw Vs throws

Create a class to find out whether the given year is leap year or not. (Use
inheritance for this program)

OR
Write a program in Java to develop user defined exception for 'Divide by
Zero' error.
Write short note: Access Protection

OR
Explain Java I/O process.
Write a program that executes two threads. One thread will print the even
numbers and another thread will print odd numbers from 1 to 50.

Explain following

(1) throws (i1) checked exception

Explain following

(1) throw (i1) finally

Write a program to explain interface implementation.

Write a program in Java to create, write, modify, read operations on a Text
file.
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